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Questions about Real and Nominal Adjustments

Extra Material About Inflation

The following table provides a simplified example of CPI calculation.

As shown, the total cost of a representative bundle in this economy has a value of 100 (i.e., CPI=100) in the base year of 1983. After that, there is an established procedure used to calculate price changes. 

The total cost of a representative bundle in 1986 was $ 96,603.6. Since the total cost of the same bundle was $ 89,200 in 1983, you can deduce that the inflation between 1983 and 1986 rose to 8.3% [($96,603.6-$89,200)/$89,200]*100=8.3%.

Thus, the CPI can be calculated as:

1983 (base year) = ($ 89,200.0/$89,200.0)*100

1986 (or any following year) = ($ 96,603.6/$89,200.0)*100

	Bundle of the Representative Family (per year)

	 
	1983
	1986 

	Total Cost per Item  ($)
	
	 

	Food
	34,000.0
	37,740.0

	Health Care
	18,000.0
	18,900.0

	Entertainment
	5,200.0
	5,397.6

	Education
	12,000.0
	12,720.0

	Energy and Transportation
	20,000.0
	21,846.0

	 
	
	 

	Total Cost of the Bundle  ($)
	89,200.0
	96,603.6

	 
	
	 

	CPI
	100.0
	108.3

	 
	 
	 


Now, let’s do an exercise.

Suppose you are given the following information about the CPI:

	 
	CPI

	1983
	100.0

	1984
	100.0

	1985
	100.0

	1986
	108.3

	1987
	112.2

	1988
	115.8


In this country, workers earned $89,200/year from 1983 through 1986. 

During 1986 the international price of oil rose strongly. As a consequence, in 1986 inflation was 8.3%. Even though it was the first time that workers faced this problem, they realized that this price increase decreased their purchasing power. 

On January 1st, 1987 they asked for higher wages. The employer stressed the fact that oil’s international price was now decreasing and they would, therefore, see decreasing prices. Satisfied with the explanation, workers agreed to work another year for $89,200. However, during 1987 prices did not decrease. Instead, the inflation was 3.6%. 

So, on January 1st, 1988 they talked with their employer and threatened to strike if their purchasing power is not returned to its 1983 level. The employer, after recognizing his previous mistake, offered a 10% increase. The workers accepted this offer.

Question 1: Did the workers’ purchasing power return to its 1983 level? Explain your answer.

On January 1st, 1989 they decided to meet with the employer with a well-defined wage objective. They seek your advice. 

Question 2: What will their salary need to be in order to return to the purchasing power they had in 1983 given that expected inflation in 1989 is estimated to be 3%?  
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Question 1: 

No. 

Even though 10% seems pretty big, the workers are not able to consume as much as in 1983 ($84,732.3<$89,200.0).

	 
	Annual Wages
	Annual Wages

	 
	Current $
	Constant $ (1983)

	1983
	89,200.0
	89,200.0

	1984
	89,200.0
	89,200.0

	1985
	89,200.0
	89,200.0

	1986
	89,200.0
	82,363.8

	1987
	89,200.0
	79,500.9

	1988
	98,120.0
	84,732.3

	1989
	106,392.4
	89,200.0


Question 2: 

Considering your forecast, this is your CPI’s table:

	 
	CPI

	1983
	100.0

	1984
	100.0

	1985
	100.0

	1986
	108.3

	1987
	112.2

	1988
	115.8

	 # 1989
	119.3

	# Your Forecast.


Your suggestion should be: “Try to get a wage increase greater than or equal to 8.44% in order to have income increase to $ 106,392.40 or more in 1989”.

89,200.0*(119.3/100)=106,392.4

(106,392.4/98,120.0)-1=8.44%

